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2021
PHILOSOPHY — HONOURS

Paper : DSE-B-1(a)

(An Enquiry Concerning Human Understanding— D. Hume)

Full Marks : 65
Candidates are required to give their answers in their own words

as far as practicable.
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[English Version]
The figures in the margin indicate full marks.

1. Choose the correct alternatives in each question (any ten) : 1×10

(a) Hume divides our perception into how many categories?

(i) Two (ii) Three

(iii) Four (iv) None of these.

(b) According to Hume, reason

(i) should serve our passion

(ii) should operate completely independently of our passion

(iii) should be used to direct our passion

(iv) should be used to extinguish our passion.

(c) In Enquiry, Hume claims that our final verdicts on moral matters are derived from :

(i) reason

(ii) a moral sense that is unique to each person

(iii) a moral sense that is universal in our species

(iv) emotion.

(d) What do mean by Hume’s Fork?

(i) Impression and Idea (ii) Emotion and Reason

(iii) Relations of Idea and Matters of Fact (iv) None of these.
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(e) All our reasoning concerning matters of fact seem to be founded on

(i) Relation of cause and effect (ii) Reason

(iii) Emotion (iv) Experience.

(f) Miracle, according to Hume is

(i) logically possible (ii) empirically possible

(iii) technically possible (iv) None of these.

(g) Hume’s scepticism is known as

(i) antecedent scepticism (ii) consequent scepticism

(iii) mitigated/academic scepticism. (iv) excessive scepticism.

(h) Hume’s view on animal reason is supported by

(i) psychologists (ii) physicists

(iii) sociologist (iv) none.

(i) According to Hume, causal relation is

(i) necessary relation (ii) logical relation

(iii) habitual relation (iv) there is no relation.

(j) Hume’s philosophy can be considered as which type of philosophy?

(i) Abstruse philosophy (ii) Sceptic philosophy

(iii) Easy and obvious philosophy (iv) None of these.

(k) Which one, according to Hume, is a law of association?

(i) Law of contradiction (ii) Law of identity

(iii) Law of contiguity (iv) Law of excluded middle.

(l) Which of the following alternatives is admitted by Hume?

(i) Ideas and impressions occur simultaneously.

(ii) Ideas precede impressions.

(iii) Impression precede ideas.

(iv) Ideas are possible without impressions.

2. Give short answer to any five of the following questions : 5×5

(a) Discuss, after Hume, the chief objection to excessive scepticism.

(b) What is ‘association’ according to Hume? Explain.

(c) What do you understand by ‘Abstruse Philosophy’?

(d) Does Hume deny the idea of necessary connection? Give reason in favour of your answer.

(e) What do you understand by ‘religious hypothesis’?



( 5 ) V(5th Sm.)-Philosophy-H/DSE-B-1(a)/CBCS

(f) How does Hume distinguish between fiction and belief? Discuss.

(g) Write a short note on ‘phyrronism’.

(h) What is antecedent scepticism?

3. Answer any two from the following questions :

(a) Distinguish after Hume between Impressions and Ideas. Can an Idea be explained solely in terms
of impressions? Discuss critically. 10+5

(b) How does Hume distinguish between propositions concerning ‘Relations of Ideas’ and ‘Matters of
Fact’? Does Hume admit the possibility of synthetic a priori propositions? Discuss. 10+5

(c) How do men surpass lower animals in reasoning? Explain in this context Hume’s view on animal
reasoning. 5+10

(d) ‘A miracle is a violation of the laws of nature’— Explain. 15


